Odpověz podle obrázků:
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 1.Is it a fringe?                                2. Is it a necklace?                             3. Are they earrings?
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    4.Are they freckles?                       5. Is it a moustache?


6.Is it a scar?
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7.Is it a beard?



8. Are they glesses?

9. Are they braces?

	
	
	


Utvoř opačné dvojice:
	1. dark
	a) weak

	2. old
	b) big

	3. plump
	c) ugly

	4. pretty
	d) curly

	5. tall
	e) fair

	6. thin/slim
	f) young

	7. strong
	g) fat

	8. straight
	h) hairy

	9. bald
	i) short

	10. small
	j) skinny


	Utvoř dvojice

	1.
	
	3.
	
	5.
	
	7.
	
	9.
	

	2.
	
	4.
	
	6.
	
	8.
	
	10.
	


Utvoř věty za pomocí slovesa být nebo mít.
	1. She / hair / curly

	

	2. I / brown / eyes/ big

	

	3. They / plump / not

	

	4. She / not / a fringe

	

	5. We / energetic

	

	6. I / not / crazy

	

	7. He / not / red / hair

	

	8. She / not / ugly

	

	9. Hair / her / straight

	

	10. I / big / not / ears

	

	11. You / lazy / not

	

	12. He / very / shy

	

	13. I / not / a beard / but / a moustache

	


